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1. Which of the following pairs of compounds can be used to 1llus1:rate the law of multiple . . .
proportions?,

(A) NH; and NCl

. (B) ZnO and ZnCl, | Al
(C) H0and HI Y .
(D) NOandNO,. =
(E) CH, and CO, - "

2 When the equation NH; + O, — NO + H,0 is balanced mth the smallest set of i 1ntegers, the
sum of the coefficients is

. (A) 4 : . L _
B) 12 ' o . .
- {014 o
oo =
‘ ’ R |

(E) 24

3.To calculate the concentration in moLirity‘“o“f.d‘ Salt solution, you need to know’
(A)the mass of the salt added to the solution and the volume of water added to the SOIU.T.iOIl
~ (B) the mass of the salt added to the solution and the total volume of the solutmn :
(C) the mass of the salt added, the molar mass of the salt, and the total volume of the solution.
(D)the molar mass of the salt and the total volume of the solution. .
(E) the mass of the salt added, the molar mass of the salt, the volume of water added, and the
total volume of the solution. . =~ b : :

E——

. , 1
4 The ox1dat10n of nitric ox1de to mtr&gen-ﬁloFld is
. 2NO(@)+Ou) — 2NO( o |
I 100.0 mL of NO (at STP) reacts with 400.0 000 L of O, at STP, calculate the partial pressure
of NO; in the final reaction mixture. S . '
(A)0.222 atm |
(B)0.333 atm
(C)0.286 atm
~ (D)0.250 atm

m JET——
(E)1.00atm - . EJW

‘5.Ifa soluuon exhlblts a negatwe dev1 oult's law, the vapor pressure of the
solution is what would be mc’t?d"' Eglly. A
(A) greater than
(B) less than , .

(C) equal'to o - ‘
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6. The conjugate acid and conjugéte base of bicarbonate ion, HCOy', are, respectively,
 (A) H;0" and OH : S '
(B) H30+ and CO5*~
(C) HzCO3 and OH . ) . "
(D) HsC03 and COs m;-—-;,-' T
(B) CO;* and OH '

7. What is the molarlty of a sodium hydrjlml;j ng n if 25.0 mL of this, solution reacts exactly

with 22.30-mL of 0. 253 M sulfuric a<:1d‘?

(A) 0.113 M
" (B) 0.226 M

(C) 0.284 M-

(D) 0.451 M
e (E) 0.567M

Whlch of the followmg statements abojit gt_;g;ltum eory is incorrect?
(A) The energy and position of an electrop cpfifiptibe etermined simultaneously.
(B) Lower energy orbitals are filled with Btectroad hefore higher energy orbitals.
(C) When filling orbitals of equal energy, two electrons will occupy the same orbital before
filling a new orbital. ' ‘
{D)No two electrons canhave the same four quantum numbers
(E) All of these are correct. - :

9. Which of the followmg molecules has*"a“"iero d11501 ‘moment?
(A) XeF» ' B ,._M.J..

(B) NCI; r

(C) B0

D) SCl
(E) ICl; -

it

10. Complete the Lew1s structure for the followmg molecule.
» CH3

CH;- CH_re @...

This molecule has - s1gma E"Ed:é_'lﬁ.n - p1 bonds.
(A) 4,5 . ‘

(B) 13,3

© 11,5 - . .

D) 13,2 L e ‘

() 6,3 ' l '
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11. When the substances in the equation below are at equilibrium at pressure P and temperature
" T, how can the equilibrium be shifted to favor the products? ‘ -
|  CuOfs) +Hyg) == Cu(s) + H:0(g)
Change in enthalpy = -2.0 kJ. ' o
(A) Decrease the temperature. remeed ln_'_J _
B)Addacatalyst, . e
(C) Increase the pressure by adding an inext gasisuch gs nitrogen.
(D)Increase the pressure by means ofam vinéjpi tor) at constant temperature.
(E). Allow some gas to escape at constant pressiife afid temperature. : '

- 12. A p-type semiconductor : :
(A)is made by doping host atoms with afoms having more valence electrons than the host.
(B)is made by doping bost atoms with atoms having fewer valence electrons than the host. - -
. (C)has electrons that lie close in energy t0 the, conduction bands. )
(D)two of these. - :
(E) none of these.
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